Supplementary information file C. The original hesitant fuzzy linguistic preference relation matrix R, , the expected 2-tuple linguistic preference relation Ern, and

the additive consistent linguistic preference relation Crn of respondent h ( h=12,--, 30) .

Respondent No.1
{5,100} {5, (100} {5, (LO0)} {s,(100)} {s, (100} {s,(10O)} {5, (1.00)} (50 ,0)  (s,,0) (50 ,0) (5,,0) (s,,0) (s,,0) (30 ,0)
(5,005 {5,100} {5 (100} {5 (L00)} {5, (L00)} {5, (L00)} s (LOO)} (5,,0) (50,0) (5,,0) (5,,0) (5,,0) (5,,0) (s,,0)
{s,(L00)} {5, (L00)} {5, (L00)} {5 (100)}  {s,(100)} {5 (L00)} {5 (100)} (5,0)  (5,,0)  (50,0) (5,,0) (5,,0) (5,,0) (5,,0)
Ri- {s,(100)} {5, (LO0) {s,(LOO)} {s (LOO)} {5 (100} {s_(1.00)} {s_ (1.00)} Bri=](52,0) (52,0) (52,0) (5,0) (50,0) (5,,0) (5,,0)

(55,0) (5,,0) (5,,0) (50,0) (5,,0) (5,,0) (5,,0)

(5,,0)  (5,0) (5,,0) (5,,0) (5,,0) (50,0)  (8y,0)

{s,(1.00)}  {s,(1.00)}  {s (1.00)}  {s, (1.00)} {s (1.00)}  {s (1.00);  {s (1.00)} (S 0) (S 0) (S O) (S 0) (S 0) (S 0) (S 0)
0° 0> -2 29 29 0 02

{s,(100)) {5, (100)}  {s_(LOO)} {5 (LOO)} {s (LOO)}  {s,(1L.00)} {5 (1.00)}

(5,(100)} {5,100} {5 (100} {5, (100} {s, (100} {5, (100} (s, (100)}

(S,,0) (s,,—0.14) (s,0.14) (s,,0) (s,,0) (8,,—0.29)  (s,,0.29)
(s,,0.14) (S,,0) (s,,0.29)  (s,,0.14)  (s,0.14) (s ,,-0.14) (s,,0.43)
(s,,—0.14) (s,,-0.29) (S,,0) (s;,—0.14) (s,,-0.14) (s,,—-0.43)  (s,,0.14)
Cri=| (5,,0) (s,,-0.14) (s,,0.14) (Sy,0) (S,0) (s,,-0.29) (s,,-0.29)

(s,,0) (s,,-0.14) (s;,0.14) (Sy,0) (S,0) (s,,-0.29) (s,,-0.29)
(5,,0.29)  (5,,0.14)  (s,,043) (s5,,0.29) (s,,0.29) (S,,0) (s,,—0.43)
(s,,—0.29) (s,,—0.43) (s ,,—0.14) (s,,-0.29) (s,,—0.29) (s,,0.43) (S;,0)




Respondent No.2

{S‘1 (0.43), S, (0.57)}

{s,(050),5_(050)}

fs,(057),s_ (03)}

{5,(057),5,(043)} {s,(0:50), 5, (0.50)}

{SD (1.00)} {s,(022), S, (0.33), S, (0.44)}

{s,(044), s (033).5, (022)}
15, (100}
{5,(057), 5, (043)}

15, (100}

{s,(057), 5, (043)}

(Sy,0) (s;,0.43)

(s,,-0.43)  (5,,0)
(5,,0.50) (s,,-0.22)

(s,,0) (s,,0)
(s,,0.43) (s,,0.43)
(s;,—0.50) (s;,0)

(s,,0) (s;,0.43)

(S,0) (s5,—0.42)
(s;,0.42) (S,,0)
(8,,0.18) (s;,—0.24)
(s,,0.43) (s,,0)
(s ,,0.15) (s,,—0.27)
(s,,0.36) (s,,—0.06)
(s,,0.46) (s,,0)

{s,(022), 5 ,(033) 5, (044)}

{s(044),5_(033)5_ (022)}

(s,,—0.50)

(s,,—0.22)

(s,,—0.22)
(s,,—0.18) (s,,-0.43) (s,,-0.15) (s.,,-0.36) (5_,,~0.46)
(s_,,—0.25)
(s,,-0.03) (s,,-0.27)
(s,,-0.07) (s,,0.20)

{s,(043),5, (0.57)} s, (050) 5, (050)}

{S‘1 (043), S, (0.57)} {5,3 (1.00)} {54 (043), S, (0.57)}

{s_ (100)}

{s,(04),5,(033) 5, (0.22)} {s, (100)} {5,(022),5, (033), 5, (044)}

{5, (030), 5, (040) 5, (030)}

{5,(030), 5, (040), 5, (0.30)} {s, (100)}

15, (100}

(s,,—0.43) (5,,0.50)  (s,.,0)
(s,,—0.43)

(s5,0)  (s,,—0.43)
(5.,0) (8.4,0)
(s,,0) (s,,0.22)
(5,0) (5,,0)
(S5,0) (S5,0)
(55,0) (S0,0)

(s4,0.06) (s4,0)
(s,,—0.17) (s,,-0.28)
(5,,0.07)  (s,,—0.03)
(s,,—0.20) (s,,—0.30)
(S,,0) (sy,—0.10)

(s,,0.10) (S,,0)




Respondent No.3

ts, (L00)}
{s, (100)}
{s,(030),s_(040), s, (030)}
(s, (043),s_(057)}
s, (L00)}
{s, (100)}

{s,(050), s (050)}

15, (100)}
15, (100}
15, (100)}
{5, (100)}
5., (100}
15, (100}

{s, (100}

{s,(030), 5, (040), 5, (030)} {5, (057),5,(043)} {5, (1.00)}

CR3 =

15, (100}
{5, (100}
15, (100}
s, (100}
15, (100)}

{s, (1L00)}

(S,,0)
(s.,,0.30)
(s.,,0.44)
(s.,,0.09)

(5.4,0)
(s ,,—0.28)
(s.,,—0.49)

{s, (100)}
{s, (100}
{s, (100)}

s, (100)}

s, (100}
15, (100}
s, 100}

15, (100}

{s, (1.00)} {s, (L00)}

{5, (100)} s, (100}

(s,,—0.30)
(85, 0)
(s,,0.14)
(s,,—0.20)
(s,,—0.29)
(5,,0.43)
(s,,0.21)

{5,100} {5, (0:50).5, (050)}
5,000 {5,100}

(5,000 {s,(L00)}

{5, (1L00) {5, (1L00)} Ers =
5,000 s, (100}

(5,100} {s,(LO0)}

5,000 5,100}
(s,,-0.44) (s,,-0.09)

(s,,-0.14) (s,,0.20)
(Sy,0) (s,,0.35)

(s,,—0.35) (Sy,0)
(s4,0) (s5,—0.08)
(s,,0.29) (s,,—0.37)
(s,,0.07)  (s,,0.42)

(S0,0)
(S0,0)
(55,0)
(.,,—0.43)
(84,0
(Sy,0)
(s.5,0.50)

(5,,0)
(s,,0.29)
(s,,0)
(s,,0.08)
(S0,0)
(s,,—0.29)
(s,,—0.50)

(50,0)  (55,0) (s,,0.43)
(80,0)  (55,0)  (5,,0)
(5;,0)  (5,,0) (s5,0)
(5,,0) (55,00 (5,0)
(54,0) (54,0)  (54,0)
(55,0)  (5,,0) (5,0
(5,,0)  (s,,0) (Sy,0)
(5,0.28)  (s5,,0.49)
(s,,—0.43) (s,,—0.21)
(5,-0.29) (s,,—0.07)
(s,,0.37) (s,,—0.42)
(s,,0.29)  (s,,0.50)
(8,0) (S,,0.21)
(s,,—0.21) (S4,0)

(,,0)
(,,0)
(,,0)
(s,,0)
(S,0)
(5,0)
(5,0)

(S,,0)  (5,,—0.50)

(s5,0)
(,,0)
(S, 0)
(s3,0)
(S, 0)
($,,0)

(s,,0)
(S, 0)
(S,0)
(s3,0)
(S0)
(S0)




Respondent No.4

Ra-

15,0100y}

s, (010),s_(020),5_(030),5_(040)}

{s,(044),5,(033), 5, (022)}
{s,(057), 5, (043)}

s, (043),5_ (057)}

{s, (040),, (030), 5, (020), 5, (0.10)}
{s, (1L.00)}
{5,(021);5,(029), 5, (0.29), 5, (021)}
{s,(044), 5 (033),5, (022)}

{5, (022),5_,(033), 5, (044)]

{s, (1.00)} {s, (030), 5, (050)}
{s, (1.00)} (s, (044), 5, (033), 5, (022)}
(55,0) (,,0)
(5,,0) (S5,0)
(s;,—0.22) (s,,—0.50)
Er:e=| (s;,0.43) (s,,—0.22)
(s5,—0.43) (s,,0.22)
(s,,0) (s5,—0.50)
(s,,0) (s;,—0.22)
(S,,0) (S,,0.14)
(s,,—0.14) (Sy,0)
(s,,—0.38) (s,,-0.24)
Cre=| (S,,—0.04)  (s,,0.10)
(s,,—031) (s,,-0.17)
(s,,0.50)  (s,,—0.36)
(s,,0.16)  (s;,0.30)

{s,(022),5_(033)5 (044}
{s,(021),5 (0295, (029), 5 (021)}
{s,(1.00)}
s, (0.50), 5, (0.50)}
{s,(022),5 ,(033)s, (044)}
{s,(0.30), 5, (0:40), 5, (0.30)}

{s,(040),5,(0.30),5,(020), 5, (0.10)}

(5,,022) (5.,—0.43)

{5, (043),5_(057)}
{s,(022),5 (033),5 (0.4}
{s,(030), s (050)}
{s, (1.00)}
{s,(022),5 ,(033),5 (044)}
{s, (044),5,(033), 5, (0.22)}

(s, (043), 5, (0.57)}

(s,,0.43)

s, (057), 5, (043)}
s, (044),5 (033), 5, (022)}
s, (04),5,(033), 5, (022)}
s, (044),5 (033), 5, (022)}
{5, (100}
s, (057), 5, (0.43)}

s, (044), 5, (033),5, (022)}

(s4,0)

(s;,0.50) (s,;,0.22) (s,,—0.22) (5,,0.50)
(sy,0) (s,,0.50) (s;,—0.22) (s,,0)
(s,,—0.50) (S,,0) (s,,—0.22) (s;,0.22)
(s5,0.22)  (s;,0.22) (S0,0) (s;,-0.43)
(s,,0) (s;,—0.22)  (s5,0.43) (S9,0)
(s,,0) (s,,—0.43) (s,,-0.22) (s,,0)
(s,,0.38) (s,,0.04) (5,031 (s,,—0.50)
(s,,0.24) (s,,—0.10) (s,,0.17) (s,,0.36)
(Sy,0) (sy,—0.34) (s,,—0.07) (s,,0.12)
(S,,0.34) (Sy,0) (5;,0.27)  (s,,,0.46)
(5;,0.07) (s4,-0.27) (Sy,0) (s4,0)
(s,,—0.12) (s,,—-0.46) (s,4,0) (Sy,0)
(s,,—0.46) (s,,0.20) (s,,0) (s,,—0.34)

{s , (1.00)}
{s,(050), 5, (050)}
{s_,(030), s (040),s_ (0.30)}
{s,(022),s_(033),s  (044)}
(s, (043).s_(057)}

{s, (1.00)}

s, (100)}

(54,0)
(s,0.22)
(5,0)
(s,,0.43)
(s,0.22)
(s;,0)
(59,0)

(s_;,~0.16)
(s_;,~0.30)
(s.,,0.46)
(s.,,—0.20)
(5,.0)
(s,,0.34)
(5,:0)

s, (1L00)}

{s,(022),5 (033),5 (044)}
{s,(010),5_(020), s, (030), 5, (040)}
{s,(057),5 (043)}
{s,(022)5_(033), 5, (0.44)}

{5, (100)}

{s, (100)}




Respondent No.5

£5,(100)} s, (1L00)} 15, (1L00)} 15, (100)} 15, (100)} 15, (100)} 15, (100)}
{s, (100)} {s, (100} {5,(044),5 (033),5 (022)} {5 (022),5_(033)5,(044)} {5, (044),5 (033),5,(022)} {5 (044)5 (033),5,(022)} {5 (044}, 5 (033)5,(022)}
5,(L00)) {5, (022).5 (033)5_ (044)} 15, (L00)} 15, (100)} 15, (100)} 15, (100)} 15, (100)}

Rs=| s,0mm 5,085, 035,02y 1s, (100} 15, (100} 1s, (100} 1s, (100} 1s, (100}
5,100} 5, (022):5 (03)5, (044)} 15, (100} s, (100} 15, (100)} 15, (100)} 15, (100}
5,100} {5, (022).5, (0335, (044)} 1s, (100} {5, (100)} 15, (100)} 15, (100)} 15, (100)}
5,100} 5, (022):5 (033)5, (044)} 15, (100} 15, (100} 15, (100} 15, (100} 15, (100}

(8,,0)  (8,0) (,,0) (,,0) (,,0) (,,0) (5,0
(Sy,0) (Sy,0) (5;,—0.22) (s,,0.22) (s,,—0.22) (s;,—0.22) (s;,—0.22)
(S,,0)  (55,0.22)  (s,,0) (,,0) (5,0 (,,0) (,,0)
Bri=1(5,,0) (5,-0.22)  (5,,0) (S,,0) (5,0 (,,0) (,,0)
(50,0)  (55,0.22) (8,0 (,,0) (,,0) (3,,0) (,,0)
(50,0)  (55,0.22) (8,0 (3,,0) (,,0) (,,0) (,,0)
(50,0)  (55,0.22) (8,0 (,,0) (,,0) (3,,0) (,,0)

(S,,0) (s,,—0.19) (s,,0.40) (s,,—0.40) (s,,0.40) (s,,0.40) (s,,0.40)
(5,,0.19) (S,,0) (s,,-0.41) (s,-0.21) (s,,—0.41) (s,,-0.41) (s,,—0.41)
(S,,—0.40) (s,,0.41) (S,,0) (s,,0.21) (S,,0) (S,,0) (S,,0)
Crs=| (5,,0.40) (s,,0.21) (s,,-0.21) (S,,0) (s;,—0.21) (s,,—0.21) (s,,—0.21)
(s,,—0.40) (s,,0.41) (sy,0) (s,,0.21) (S,0) (Sy,0) (Sy,0)
(s,,—0.40) (s,,0.41) (sy,0) (s,,0.21) (S,,0) (Sy,0) (Sy,0)
(s,,—0.40) (s,,0.41) (sy,0) (s,,0.21) (S,,0) (Sy,0) (Sy,0)




Respondent No.6

Rs-

15, (100}
{s,(030).s_ (050)}
{s, (100}

15, (100)}
{s,(057),s_ (043)}

15, (100}

s,(044) 5 (033),5,(022)}

ERG =

CR(y =

{s,(0.50), s, (0.50)} {s, (1.00); {s, (100)} is,(043),5,(057)} is, (100)} {s,(022),s (033),5, (044);
{s, (100)} {s, (100)} {5, (022);s_(033) 5, (044)} {s, (100)} s, (030),s_ (050} s, (1L00)}
{s, (100); {s, (100)} {s, (100)} s,(044).5 (033).5, (022)) {s, (100)} {s, (100)}
{s,(044)5,(033) 5, (022)} {s, (100)} fs, (100)} {5, (1L00)} {5, (100)} {5, (1L00)}
{s, (100)} {5,025 (033)5_(044)} {s, (100)} {s, (100)} {5, (057),s (04 (s, (021)5 (029).5 (029)5 (021)}
{5, (030), 5, (050)} ts, (100)} fs,(100)} {5, (043).5, (057)} ts, (100)} {5, (100)}
{5, (100)} {s, (100)} {s, (100)} 5,(021),5,(029).5,(029). 5, (021} s, (100)} {s, (100)}
(5,0)  (5,,—0.50)  (s,,0) (s,,0)  (5,,—0.43)  (5,,0) (5,,0.22)
(s,,0.50) (S,,0) (55,00 (s;,0.22)  (50,0)  (5,,0.50) (s,,0)
(S5,0) (55,0 (S5,0) (80,0)  (55,-0.22)  (5,,0) (S5,0)
(5,,0)  (5,-0.22)  (5,0) (S5,0) (;,0) (,,0) (S5,0)
(s,,0.43) (S,,0) (s,,0.22)  (s,,0) (S,,0) (s,,0.43) (s,,0.50)
(8,0)  (5,,=0.50)  (5,,0) (55,0)  (5,,-0.43)  (5,,0) (85,0)
(5;,-0.22)  (s5,0) (55,0) (8,0)  (5,=0.50)  (5,,0) (85,0)
(S,,0) (s,,0.15) (s,,-0.07) (s,,0.36) (5,0.39) (s,,—0.40) (s ,,—0.14)
(s ;,—0.15) (S,,0) (s,,—0.22) (s,,0.21)  (s,,0.23) (s,,0.45) (s,,—0.29)
(s,,0.07)  (s,,0.22) (S,,0) (s,,0.43) (s,,0.46) (s,,—0.33) (s,,—0.07)
(s,,—0.36) (s,,—0.21) (s,,—0.43) (S,,0) (5;,0.03)  (s,,0.24) (s,,—0.50)
(s ;,—0.39) (s,,—0.23) (s,,-0.46) (S,;,—0.03) (S,,0) (s,,0.22)  (s,,0.47)
(S,,0.40) (s,,—-0.45) (s,,0.33) (s,,-0.24) (s,,—0.22) (S,,0) (s ,,0.26)
(s,,0.14) (5,,0.29)  (s,,0.07)  (s,,0.50) (s,,—0.47) (s,,—0.26) (Sy,0)




Respondent No.7

s, (100)} {s,(057),5,(043)} {s, (100)} s, (100)} {5,(043),5,(057)} {s, (100);
s, (043),5_,(057)} fs, (100)} {s ,(030).5 (040, 5, (030} s, (043)5_(057)} fs,, (100); s,(022):5_(033)5 , (044)}
s, (100)} {5, (030), 5, (040), 5, (030)} {s, (100)} {s,(100); {s,(057), 5, (043)} {s, (100)}
R- {s, (100} {s,(057).5,(043)} {s, (100} {s, (100)} {5, (030). 5, (0:40). 5, (030)} s, (100)}
s, (0575, (043); {5, (100)} s, (043)5_ (057)} {50305, (040) 5 (030)} {s, (100)} 5,025 (033).5 (044)}
fs, (100)} {s,(044),5,(033), 5, (022)} {s, (100)} s, (100); {s,(044),5,(033), 5, (022)} {s, (1o0)}
ts, (100)} {5,(022).5,(033), 5, (044)} ts, (L00)} {5, (043).5, (057)} {5, (100)} 15, (1L00)}
(S5,0) (;,0.43) (85,0) (5.,0)  (5,-043)  (5,0) (S5,0)
(s4,-0.43) (Sy,0) (s,,0) (s;,-043) (s,,0) (5;,0.22) (s,,-0.22)
(S5,0) (,,0) (S0,0) (5,,0) (5,,0.43)  (5,,0) (S0,0)
Er=| (S,,0) (s;,0.43) (s,,0) (S,,0) (s,,0) (s ,,0) (s,,0.43)
(s,,0.43) (s,,0) (s;,—0.43) (s,,0) (S,,0) (s,,0.22) (s;,0)
(s.,,0) (s;,—0.22) (S,,0) (s,,0) (s,,—0.22)  (s,,0) (S,,0)
(S5,0) (5,,0.22) (8,0)  (5,,-0.43)  (5;,0) (S5,0) (85,0)
(S,,0) (5,,—0.02) (s,,—0.20) (s,,0.31)  (s,,0.25) (s,,—0.08) (s,,—0.26)
(s,,0.02) (S,,0) (s;,—0.18) (5,,0.33) (5,,0.27) (s5,,—0.06) (s,,-0.24)
(5,,0.20)  (s;,0.18) (S,,0) (5,,—0.49) (s,,0.46)  (s,,0.12)  (s,,—0.05)
Crr=| (S,,—0.31) (s,,—-0.33) (s,,0.49) (S,,0)  (5,,—0.05) (s,,—0.39) (s5,,0.44)
(s,,—0.25) (s,,-0.27) (s,,-0.46) (s,,0.05) (S,,0) (s,,—0.33) (s,,0.49)
(S,,0.08)  (s;,0.06) (s,,—0.12) (s,,0.39) (s,,0.33) (S,,0) (S,,—0.18)
(8,,0.26)  (s;,0.24)  (5,,0.05) (s,,—-0.44) (s,,—0.49) (s,,0.18) (S,,0)

15, (100)}
s, (044),5_(033)5 (022)}
15, (100)}
{s,(057), s, (043)}
f5,,(100)}
{s, (100)}

15, (100}




Respondent No.8

ts, (100} {5,(057), s, (043)} {s, (1.00)} is,(043),5_ (0.57); {s, (0.50), 5, (0.50)} {s, (1.00)} {5, (10O}

s, (043),5_(057)} {s, (1L00)} {s,(022),5_(033)5 (044)) {5 (030),5_(040),5 (030)} s, (100)} s, (100)} {5, (100)}

s, (100} 15, (044), 5, (033).5,(022)} 15, (1L00)} 15, (1L00)} 15, (050), 5, (050)} 15, (1L00)} ts, (100}

Rs- {5,(057),5,(043)) {5, (030), 5, (040), 5, (030)} {s, (1L00)} s, (100)} {5, (050), 5, (0.50)} (s, (043), 5, (057)} {s, (1L00)}

s, (030), 5 (050} {s, (100)} {5, (0505 (050)} {s,(050), 5 (0:50)} {s, (100)} {s,(044),5 (033)5, (022)} {s,(050),5, (050}
fs, (100} s, (100} fs, (L00)} fs,(057),5, (043)) fs,(022),5,(033), 5, (044)} fs, (100)} fs, (100}
15, (100)} ts,(100)} {5, (1L00)} ts, (1L00)} 15, (050).s, (050)} {5, (100)} {5, (1L00)}
(Sy,0) (s5,0.43) (S9,0)  (55,—0.43) (s;,-0.50) (s;,0) (s,,0)
(85,70.43)  (5,,0)  (55,022)  (5,,0) (S, 0) (5,0 (5,,0)
(Soao) (539_0-22) (Soao) (5090) (339_0'50) (Slso) (Soao)
Ers=| (s;,0.43) (s,,0) (Sy,0) (Sy,0) (s,,—0.50) (s,,-0.43)  (s,,0)
(5.5,0.50)  (5,,0)  (55,0.50) (5,,0.50)  (5,,0)  (5,,-0.22) (5,,0.50)
(s5,0) (5,,0) (5.,0)  (5,,043)  (5,,022)  (5,,0) (,,0)
(5,,0) (,,0) (85,0) (8,0)  (5,-0.50)  (5,,0) (85, 0)
(5,,0)  (5,024) (5,,—0.25) (5,,0.29) (5,,0.39) (5,,—0.02) (s,,—0.14)
(5,,-0.24)  (5,,0)  (5,,-0.50) (5,,0.04) (5,,0.15) (5,,-0.27) (5,,-0.39)
(5,,0.25)  (5,,0.50)  (5,,0)  (5,,—0.46) (5,,—0.36) (5,,0.23)  (s,,0.11)
Cre=| (5,-0.29) (5,,—0.04) (5,,0.46) (5,,0)  (5,,0.10)  (5,,—0.31) (s,,—0.43)
(5.,,-0.39) (5,,—0.15) (5,,0.36) (55,—0.10)  (5,,0)  (5.,,—0.41) (5,,0.47)
(s,,0.02) (s,,0.27) (s,,—0.23) (s,,0.31) (s,,0.41) (Sy,0) (s,,-0.12)
(5,,0.14)  (5,,039)  (5,,—0.11) (5,,043) (5,,—0.47) (5,,0.12) (s,,0)




Respondent No.9 5,00

{s, (1L00)}
{s, (1.00)}
{s, (0:30), 5, (0.50)}
(s, (0.4),5,(033), 5 (0.22)}

fs,(0.57), 5, (0.43);

s, (100)}

(,,0)
(,,0)
(,,0)
(s,,—0.50)
(,,—0.22)
(s,,0.43)
(,,0)

ER9 =

(S,,0)
(s,,—0.13)
(s,,—0.36)

(s,,0.09)
(5,,0.17)
(s,,-0.29)
(s,,0.22)

CR9 =

{s, (1L00)}

15, 100}

{s,(044),s,(033), s, (0.22);

s, (100}
{5, (100)}
{S3 (0.57),s,(043)}

{s,(057), 5, (043)}

(,,0)
(,,0)
(s5,—0.22)
(,,0)
(S,,0)
(s,,0.43)
(s;,0.43)

(5,,0.13)
(50:0)
(s,,—0.23)
(s,,0.22)
(5,,0.30)
(s,,—0.15)
(s,,0.36)

ts, (100)} {s,(050),5 ,(050)}  {s_(022),5,(033),5,(044)}  {s_(043),5(057)} ts, (1.00);
{5, (022);5_(033) 5 (044)} fs, (100)} {s, (100)} {5, (03)s (057)} {5, (043)5_(057)}
{s, (100)} fs, (100)} {s, (100)} {s, (100)} {s, (100)}
{s, (100)} fs, (1L00)} {s,(057) 5, (043)} {s, (100)} {s,(100)}
{s, (100)} s, (03),5_ (057} {s, (100)} {s,(043),5_(057)) {5, (043)5_(057))
15, (100)} {5, (L00)} {5,(057).5, (043)} {5, (1L00)} {5, (100)}
{s, (Lo0)} fs, (100)} {s,(057),5,(043)} {s, (100)} {s, (100)}
(S,,0) (s,,0.50) (s;,0.22) (s,,—0.43) (S,,0)
(s;,0.22) (S,,0) (S,,0)  (55,—0.43) (s,,-0.43)
(S, 0) (S,0) (3, 0) (S, 0) (S0)
(S, 0) (8,0)  (5,043) (5,0 (S,,0)
(8,,0)  (55,-0.43)  (s,,0)  (s;,-0.43) (s,,-0.43)
(5:0) (5,00 (5,043 (5,.0) (50-0)
(35,0) (8,0)  (5,043) (5,0 (S,0)
(s,,0.36) (s,,-0.09) (s,,—0.17) (s,,0.29) (s,,—0.22)
(s,,0.23) (s,,-0.22) (s,,—0.30) (s,,0.15) (s,,—0.36)
(S,,0) (S,,—0.45) (5,0.47) (s ,,—0.07) (s,,0.42)
(8,,0.45) (S,,0) (s,,—0.08) (s,,0.38) (s,,—0.13)
(s,,—0.47) (s,,0.08) (S,,0) (s,,0.46) (s,,—0.05)
(5,,0.07)  (s,,—0.38) (s,,—0.46) (S,,0) (S,,0.49)
(s,,—0.42)  (s,,0.13)  (s,,0.05) (s,,—0.49) (S,,0)




Respondent No.10

fs, (1L00)} {s, (100)}
fs, (100)} s, (100)}
{s,(050), 5, (050)} {5, (100)}
Rio-| s, a0 s, (100}
s,(050),5 (050)} {5, (050).5,(050)}
{5 (1L00)} s, (100)}
{s, (100)} {s,(057),s_ (043);
(85,0) (S5,0)
(85,0) (S5,0)
(s,,—0.50) (s,,0)
Ero=| (s5,,0) (s,,0)
(s,,0.50) (s;,—0.50)
(5.4,0) (S5,0)
(Sy,0) (s,,0.43)
(S,,0) (s,,—0.01)
(s,,0.01) (S,,0)
(s;,—0.29) (s,,—0.30)
Cro=| (5,,0.06) (s,,0.05)
(s,,—0.42) (s,,—0.43)
(s,,—0.35) (s,,—0.36)
(s,,—0.02) (s,,—0.03)

{s,,(030).s_ (050} s, (100)} {s,(050),5, (050)} {s, (100)} {s, (100)}
{s_, (1LOO)} {s, (1.00)} {s,(0.50), 5, (0.50); {s, (1.00); {s,(043), 5, (057)}
{s, (100)} s, (100)} {s,(050), 5, (050)} s, (100)} {s, (100)}
{s, (1.00)} {s, (1.00)} {s (1.00)} {s,(057),s (04B)} {s, (1.00)}
{s (0505 (050} 15, (L00)} ts, (L00)} s, (100)} s, (043) 5 (057)}
s, (100)} s,(043),5,(057); {s, (1.00); {s, (100)} {s, (100)}
{5, (100)} {5, (L00)} {5,(057).5,(043)} {5, (100)} 15, (100)}
(s,,0.50) (s;,0) (s,,—0.50) (s,,0) (S0,0)
(s,,0) (s,,0) (s;,0.50) (S9,0) (s,,—0.43)
(SO,O) (53’0) (Sz’_O-SO) (Szao) (Soao)
550) (5,00 (5,00 (55,043 (5,,0)
(s,,0.50) (s,,0) (S,0) (s;,0) (s,;,-0.43)
(5_2 ,0) (Sz ,—0.43) (53 ,0) (So ,0) (So ,0)
(,,0) (5,,0)  (5,043) (5,0 (8,,0)
(s,,0.29) (s,,-0.06) (s,,0.42) (s,,0.35)  (s,,0.02)
(s,,0.30) (s,,—0.05) (s,,0.43) (s,,0.36) (s,,0.03)
(sy,0) (s;,—0.35) (s,,0.13)  (s,,0.06)  (s,,—0.27)
(s 4,0.35) (sy,0) (s,,0.48) (s,,0.41) (s,,0.08)
(s,,—0.13) (s,,—0.48)  (s,,0) (s,,—0.07) (s ,,—0.40)
(s,,—0.06) (s,,—0.41) (s,,0.07) (sy,0) (s,,—0.33)
(s,,0.27) (s,,—0.08) (s,,0.40) (s,,0.33) (sy,0)
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Respondent No.11

15, (100} 15, (1L00)}
{5, (100} 15, (100}
15, (100} 15, (100)}
Rii- {5,(030) 5,(040), 5, (030)} {5, (1.00)}
ts, (100} 15, (100}
ts, (1L00) {s, (100}
15, (1L00)} 15, (100}

CRII =

15, (100}
1s, (100}
15, (100}
15, (100}
15, (100}
15, (100)

15, (100}

{5, (030)5_(040), 5 (030)}  {s_, (100)}

15,100}
15, (100}
15,100}
15,100}
15, (100}

15,100}

(5,:0)
(s,,—0.43)
(s,,—0.43)
(s,,—0.14)
(s,,—0.14)
(s,,—0.43)
(s,,—0.43)

15, (100}
15, (100}
15, (100}
15, (100}
15, (100}

{s, (100)}

{s, (L00)}
{5, (1L00)}
{5, (100)}
{5, (L00)}
{s,(100)}
s, (100)}

15,100}

15, (100)}
15, (100}
15, (100)}
15, (100}
15, (100}
£s, (100}

15, (100}

ER11 =

(s,,043) (5,,043) (s,,0.14)
(s,,—0.29) (S,,—0.29)
(s,,—0.29) (S,,—0.29)
(5,:0)
(5,:0)
(s,,—0.29) (s,,—0.29)
(s,,—0.29) (5,,—0.29)

(,,0)
(,,0)
(,,0.29)
(,,0.29)
(s5,0)
(3,,0)

(,,0)
(,,0)

(s,,0.29)
(s,,0.29)

(s5,0)
(,,0)
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(S, 0)
($,,0)
(,,0)
(,,0)
(,,0)
(s5,0)
(,,0)

(s,,0.14) (s,,0.43) (s ,,0.43)

(,,0)
(,,0)

(30)
(,,0)
(,,0)
(S0)
(,,0)
(s5,0)
(8,0)

(,,0)

(8,0) (5.,,0)
(8,0)  (8,,0)
(8,0)  (8,,0)
(8,0)  (5,,0)
(S,0)  (85,0)
(5;,0) (55,0
(8,0)  (5,,0)

(s5,0)

(s5,0)

(,,0)
(s5,0)

(,,0)
(5,0.29)  (s,,0.29)
(5,0.29)  (s,,0.29)
(s5,0)
(,,0)

(5,,0)
(,,0)
(,,0)
(S,0)
(,,0)
(s5,0)
(S,0)

(s5,0)
(s5,0)
(s5,0)
(s5,0)
(s5,0)
($,,0)
(s5,0)

(S,0)
(,,0)
(,,0)
(,,0)
(S,,0)
(s5,0)
(,,0)




Respondent No.12

Ri2-

fs, (1L00);
{s_,(1L00)}
{5, (100)}
{s_,(1L00)}
fs, (100)}
fs, (100)}

s, (100)}

15, (100}
15, (100}
ts, (100}
ts, (100}
15, (100}
ts, (100}

{s, (1L00)}

CRlz =

5,100 {s,(L00)} {5, (LO0)} {5,(1L00)} {s,(LOO)} (8,0)  (5,,0) (s,,0)
(5,100} {5, (100} {5,100} {5,(L00)} {5, (100)} (5,,0) (5,,0) (s,,0)
s, (100} {5, (L00)} {5, (LO0)} {5, (LO0)} {5, (1.00)} (s4,0) (s,,0) (s,,0)
{s,(100)} {5 (LOO)} {s (LOO)} s (LOO)} {s, (LOO)} Eri = (s 4,0) (571,0) (571,0)
5,000} {5 (00} {5,100} {5, (100} s, (100} (s4,0) (s,,0) (s,,0)
(5,(L00)) (s, (LO0)} {5, (L00)}  {s,(L00)} {5, (100)} (s4,0) (s,,0) (s,,0)
(5,100 (s (L0} {5 (L00)}  {s, (L00)} {5, (100)} (s4,0) (s,,0) (s,,0)
(Sy,0) (55,0.29)  (s,,—0.43) (s,,0) (s,,0)
(s;,—0.29) (Sy,0) (54,0.29) (5,,0.43)  (s5,,—0.29)
(54,0.43)  (s,,—0.29) (S,,0) (s,,0.14) (5,,0.43)
(s_4,0) (s,,,—043) (s,,—0.14) (S,,0) (s_,,0.29)
(s_4,0) (s.,,0.29)  (5,,—0.43) (s,,—0.29) (Sy,0)
(s_4,0) (s_,,0) (s_,,0.29) (5,,0.43)  (s,,—0.29)
(s_4,0) (s_,,0.14) (s,,0.43)  (5,,—0.43) (s,,—0.14)
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(8:,0)  (5,,0)  (5,,0)
(5,0)  (5,0) (s,0)
(5,0)  (5,0) (s,0)
(8,0) (5,,0) (5.,,0)
(5,0)  (5,,0) (s,0)
(5,0) (5,,0) (55,0)
(5,0)  (5,,0) (55,0)
(s4,0) (s4,0)
(s,,0) (s;,—0.14)
(s,,—0.29) (s,,—0.43)
(5,,—0.43) (s_,,0.43)
(50,0.29)  (s,,0.14)
(Sy,0) (sy,—0.14)
(Sy,0.14) (Sy,0)

(,,0)
(5,,0)
(5,,0)
(s,,0)
($,,0)
($,,0)
($,,0)




Respondent No.13

Ris-

ER13 =

CR13 =

{s, (100)} {s, (100)} {s,(030),5_ (0405, (030)} s, (100)} {s,(030).s_ (050} {s, (100)} (s, (0575 (043)}
fs, (L00)} 15, (100)} {s, (1L00)} s, (043)5_ (057} {5, (100)} 5,075, (043); fs_, (100);
{s,(030). 5, (040), 5, (030)} {s, (1.00); {s, (100)} fs, (100)} {s,(050),s, (050)} {s, (100)} {s, (100)}
{5, (100)} {5,(057).5, (043)} ts, (L00)} {5, (L00)} ts, (100); {5, (043), 5, (057)} ts, (100)}
{s, (050). 5, (0.50)} {s, (100); {5, (030);s_ (050)} s, (100)} s, (100)} s, (057)s_ (043); {s, (100)}
{s, (100)} {s,(043), 5, (057} {s, (100)} (s, (0575, (043)) {5 (043).5,(057)} {s, (100)} {s, (100)}
{s,(043), 5, (0.57)} s, (100)} {s, (100)} fs, (1L00)} {s, (100)} {s, (100)} s, (100)}
(55,0) (s,,0) (s,,0) (55,00 (5,,050)  (5,,0)  (5,,0.43)
(8,,0) (S5,0) (5.,0)  (55,-043)  (5,0)  (5,,043)  (5,,0)
(,,0) (5,0 (35,0) (8,0)  (55,-0.50)  (5,0) (55,0)
(8,0)  (5,,0.43)  (5,0) (S5,0) (5,0)  (5,,-043)  (5,,0)
(s,,—0.50) (s,,0) (s4,0.50) (s,,0) (Sy,0) (s,,0.43) (s,,0)
(s,,0) (s,,—0.43) (S,,0) (s,,0.43) (s,,-0.43) (Sy,0) (sy,0)
(s,,-0.43)  (5,,0) (S5,0) (S5,0) (5,,0) (S5,0) (85,0)
(S,,0) (s;,—0.30) (s,,0.06) (s,,—0.44) (s,,0.36) (s,,0.34) (s,,—0.09)
(s,,0.30) (S,,0) (s,;,0.36) (s;,-0.14) (s,,—0.35) (s,,—-0.37) (s,,0.20)
(s,,—0.06) (s,,—0.36) (S,,0) (s,,0.50)  (s,,0.30) (S,,0.28)  (s,,—0.15)
(s,,0.44)  (s,,0.14)  (s,,—0.50) (S,,0) (s,,—0.20) (s5,,-0.22)  (s,,0.35)
(s;,—0.36) (s,,0.35) (s,,-0.30) (s,,0.20) (S,,0) (s,,—0.02) (s ,,-0.45)
(s,,—0.34) (s,,0.37) (s,,—0.28) (s,,0.22)  (s,,0.02) (S,,0) (S,,—0.43)
(5,,0.09) (s,,—0.20) (s,,0.15)  (s,,—0.35)  (s,,0.45) (8,,0.43) (S,,0)
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Respondent No.14

15, (100} 15,(044),5,(033),5,(022)} 15, (L00)} {5, (LO0)} {5, (0445, (033)5,(022)} {5, (1L00)} {5, (100}
5, 02),5, (0335 (0.4} 15, (100)} 15,0100} {5, (100} 15, (100} 15,100} s, (100}

15, (100} 15,100} 15,100} {5, (100} 15, (100} 15, (100)} {5, (100}

Ria- 15, (100} 15, (100)} 15,0100} {5, (100} 15, (100} 15,100} s, (100}
15,(022)5 (033)s (044} 15, (100} 15, (100} {5, (100} 15, (100} 15, (L00)} {5, (100}

1s, (100} 15, (100} 15,(100)} {5, (100)} 15, (100} 15,100} s, (1L00)}

15, (100} 15, (100} 15,100} {5, (100} 15, (100} 15, (L00)} {5, (100}

(8,0)  (5,,70.22) (5),0) (5,,0) (55,-0.22) (5,,0) (8y,0)
(55,022)  (5,0)  (5,0) (8,0)  (50,0)  (5,,0) (5),0)
(,,0) (50,0)  (50,0) (50,0)  (50,0)  (55,0) (5y,0)
Eru=| (5,,0) (S0,0) (50,0)  (5,0) (S,0) (50,0)  (5,0)
(55,0.22)  (5,0)  (5,0) (5,0)  (8,0)  (5,,0) (5,,0)
(,,0) (50:0)  (50,0) (50,0)  (50,0)  (55,0) (5y,0)
(,,0) (50:0)  (50,0) (50,0)  (50,0)  (55,0) (5,,0)

(S,,0) (s,,0.19) (s,,-0.21) (s,,—0.21) (s,,0.19) (s,,—0.21) (s,,—0.21)
(s,,-0.19)  (s,,0) (s,,—0.40) (s,,—0.40) (S,,0)  (S,,—0.40) (s,,—0.40)
(s,,0.21) (s,,0.40) (S,,0) (S,,0) (8,,0.40) (S,,0) (S,,0)
Cru=| (5,,0.21) (s,,0.40) (S,,0) (S,0) (8,,0.40) (S,,0) (Sy,0)
(s,,—0.19)  (s,,0) (s,,—0.40) (s,,-0.40) (s,,0) (s,,—0.40) (s,,—0.40)
(s,,0.21) (s,,0.40) (Sy,0) (Sy,0) (s,y,0.40) (S,,0) (Sy,0)
(s,,0.21) (s,,0.40) (Sy,0) (Sy,0) (s,y,0.40) (S,,0) (Sy,0)
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Respondent No.15

{s, (100}

s, (100}
{s,(043), s, (057)}
Ris- s, (100)}

{s,(022)5_(033)5 (044)}

fs,,(100)}

{5,(030), 5, (040), 5, (0.30)}

ER15 =

CRls =

s, (100)}
15, (100}

{s,(043), 5, (057)}

{s,(044),5,(033), 5, (022)}

{5, (100);

s, (100)}

{s,(040), 5, (0.30), 5, (020), 5 (0.10)}

(,,0)
(s5,0)
(s,,—0.43)
(s.,0)
(s.,0.22)
(55,0)
(s,,0)

(85,0)
(s,,,—-0.22)
(s ,,—0.04)
(S,,—0.36)

(s_,,0.36)
(s,,—0.27)
(5,,0.33)

{s, (0575 (043)} s, (100)}

s, (0575, (043)} fs,(022),5_(033), 5, (044)}
{s, (100)} s (045),s_(033).5_ (022)}
{5,(022), 5, (033), 5, (045); {s, (100)}
{5 (045),5_(033)5, (022)} {s, (0575 (043)}

{5,(022),5, (0.33), s, (044)} {s,(0.57), s, (043)}

{5, (1L00)} {5, (057).5, (043}
(5,0)  (5,,043)  (s,0)
(5,0)  (5,,0.43) (5,,0.22)
(s,,—043)  (5,0)  (5,,-0.22)
(5,,-0.22)  (5,,0.22)  (s,,0)
(s,0)  (5,,-022) (s,,0.43)
(s.,0)  (5,022)  (s,,0.43)
(s,,0) (5,,0)  (s,,0.43)
(5,,022)  (5,0.04)  (s,,0.36)
(5,0)  (5,,-0.18) (s,,0.13)
(s,,0.18) (5,0)  (5,,0.32)
(s,,—0.13) (5,-0.32)  (5,,0)
(s,,—0.42) (5.,,0.40) (s_,—0.29)
(s;,—0.05) (5,,—0.23) (5_,,0.08)
(5,,-0.45)  (5,0.37)  (5,,-0.32)
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{s, (044),5 (033),5,(022)}
s, (L00)}
{s_(045),s_(033)5_ (022)}
{s,(043) 5, (057)}

s, (100}
{s,(022),s (033),5, (044}

{s,(0.50), s, (0.50)}

(s;,—0.22) (s;,0)
(s_1,0) (5,,0)
(s,,0.22) (s,,—-0.22)
(s,,—0.43) (s;,—0.43)
(Sy,0) (s;,—0.22)
(s;,0.22) (S,,0)
(s;,—0.50) (s,,—0.43)
(s,,-0.36) (s,,0.27)
(s_,0.42) (s,,0.05)
(s,,—0.40) (s,,0.23)
(5,,0.29) (s,,—0.08)
(S,,0) (sy,—0.37)
(8,,0.37) (Sy,0)

(s,,—0.03) (s,,—0.40)

{s, (L00);

15,(100)}

{5, (045),5,(033)5 (022)}
{5, (043)5 (057}
{s,(044), 5, (033),5, (022}
15, (1L00)

{s,(043), 5, (057)}

(s,,0)
(s,0)
(s,0)
(s,,—0.43)
(s.3,0.50)
(s.,,0.43)
(,,0)

(s,,—0.33)
(s.,,0.45)
(s.,,—0.37)
(s.,,0.32)
(s,,0.03)
(s.,,0.40)
(5,:0)

{s,(030).5 (0405 (030)}

fs,,(010),5_(020), 5 (030), 5, (0.40)}

{s, (LO0)}
{s,(043), 5, (057)}
s, (050),5_(0:50)}
{s, (0575 (043)}

15, 100}




Respondent No.16

{s, (100} {s, (1.00)} {s,(057), 5, (043)} {s,(022),;s_(033), s, (044)} is, (1.00)} ts, (100)} {5,(057), s, (043);
s, (100} fs, (100)} s, (100)} fs_, (100} s, (044),5,(0.33) 5, (022)} fs_, (100)} s, (100)}
s, (043),5_(057)} fs, (100)} {s, (100)} {s,(022),5, (033),5, (044)} fs, (1L00)} {s, (1L00)} {s,(057), 5, (043);
R16 =| {s,(044),5,(033), 5, (022)} s, (1,00} (s, (0.44), 5 (033), 5, (0.22)} {s, (100)} s, (100)} {s, (1.00)} (s, (0.4),5,(033), 5, (0.22)}
s, (100} s, (0225 ,(033)5, (044} {s_,(100)} fs_, (100)} fs, (1L00)} s, (100)} {5, (022),5,(033). 5, (044)}
ts, (100)} {5, L00)} ts, (100)} fs, (100)} s, (100)} fs, (100)} {5, (044) 5, (033) 5, (022)}
{s,(043),5_(057)} s, (L00)} {s,(043),5_(057)} {s,(022),5 (033),5 (044) {s,(044),5 (033).5,(022)} {5 (022)5 (033)5 (0.44)} s, (1L00)}
(Sy,0) (s,,0) (55,0.43)  (s5,0.22) (s,,0) (Sy,0) (s5,0.43)
(5.4,0) (8,0) (54,0 (54,0)  (5,-022)  (s,,0) (5.4,0)
(s;,-0.43) (s,,0) (S,,0) (s;,0.22) (s,,0) (S9,0) (s5,0.43)

Eris=| (s;,-0.22) (s,,0) (s5,—0.22) (Sy,0) (s,,0) (5,00  (s;,-0.22)
(55,0)  (55,022)  (s,,0) (4,0 (S, 0) (54,00 (53,0.22)
5,0 (5.0 (5,0 (5,0) (5,00 (5,0)  (5,,-022)

(s;,-043)  (s,,0) (5,,-0.43) (5,,0.22) (s;,—0.22) (5,,0.22)  (s,,0)

(S,,0) (5,0)  (5,-0.02) (5,,039)  (5,,0)  (5,,0.19) (s,,~0.47)
(s.,.,0) (5,0)  (5,,-0.21)  (5,,0)  (5,-0.38)  (5,,0)  (5,,0.34)
(5,,0.02) (5,021)  (5,,0)  (5,,041) (s,,—0.17) (5,,0.21) (s,,—0.45)

Cre=|(5,-039)  (5,,0)  (s,,—041)  (s,,0) (5,0)  (5,-0.21)  (s,,0.14)
(5,,0)  (5,,038) (5,,0.17)  (5.,0) (S,,0) (s,,0)  (5,,-0.27)
(5,-0.19)  (5,,0)  (5,-0.21) (s,,021)  (s,,0) (5,0)  (5,,0.34)

(5,,047) (5,,-0.34) (5,,045) (5,,-0.14) (5,,0.27) (5,,-034)  (s,,0)
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Respondent No.17

{s, (1.00)} {s, (1.00); {s,(0.30), 5, (040),5,(030); {5 (0.40),5,(030),5,(020),5,(0.10);  {s,(044), s (0.33),5,(022)} {s, (1.00)} ts, (100}
{s, (100)} s, (100)} s, (100)} {s,(010),5 (020),5,(030),5 (040)} {3, (044)5,(033),5, (022)} {s, (100)} fs, (100)}
{s,(030),5,(040). 5, (030)} {s, (100)} {s, (100)} {s,, (100)} s, (100)} {s, (100)} fs, (100)}
Ri7=| s,010)5, 02015, 0305, 040 1504015, (030)5, 02015, 010} s, (100)} {s, (100)} {s,(044),5,(033), 5, (022)} {s, (100)} fs, (1L00)}
s, (0225 (0335 (044)) {s,(022)5_(033)5 (044)} {s, (100)} {s,(022)5 (033).5_(044)) s, (100)} {s,(050)s_ (030)}  {s,(050).5_ (050}
{5, (100)} ts, (100)} {5, (100)} {5, (100)} {5, (0350) 5, (050)} {5, (1L00)} {5, (L00)}
{s, (100)} {s, (100)} {s, (100)} {s, (100)} {5, (050, 5, (0:50)} {s, (100)} fs, (100)}
(500 (5,0)  (5.0)  (5,0)  (5,-022) (5,00  (5,,0)
5,00 (5,00 (5,0) (55,00 (5,-022)  (5,0)  (5,,0)
52,00 (5,0 (5,0 (55,00 (5,00 (5,00 (5,0
Ery = (3_2,0) (3250) (Szao) (Soao) (53,—0.22) (Soao) (Soao)
(5;,0.22) (5,,0.22) (s,,0) (s,,0.22) (Sy,0) (s,,0.50) (s,,0.50)
(,,0) (8,0)  (5,0)  (5,0)  (5,,=0.50)  (5,,0) (S0)
(,0) (8,0)  (5,0)  (5,0)  (5,,=0.50)  (5,,0) (S0)
(sy,0) (s,,—0.14)  (s,,0.25)  (s,,0.29) (s;,—0.13) (s,,—0.25) (s,,—0.25)
(s,,0.14) (sy,0) (8,,0.40) (s,,0.43) (s,,0.02) (s,,—0.10) (s,,—0.10)
(s,,—0.25) (s,,—0.40) (Sy,0) (s,,0.03) (s,,—0.38) (s,,0.50) (s,,0.50)
Cri=| (5,,—0.29) (5,,-0.43) (s,,—0.03) (Sy,0) (s;,,—0.41)  (s,,0.47)  (s,,0.47)
(s;,0.13) (s,,-0.02) (s,,0.38) (s,,0.41) (sy,0) (s,,-0.12) (s,,-0.12)
(s,,0.25)  (s,,0.10) (s,,—0.50) (s,,—0.47) (s,,0.12) (S,,0) (S,,0)
(s,,0.25)  (s,,0.10) (s,,—0.50) (s,,—0.47) (s,,0.12) (S,,0) (S,,0)
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Respondent No.18

Ris=| 055,00 15, (100)} s, (050)s, (050} {5, (1L00)}
fs, (100} 5, (0225, (033) 5 (0.4} s, (100)} 5,057, (043}
15, (100} 15, (100} ts, (100} 15,(050)5, (050}
15,(030).5,(040).5, (030)} 15,0100} 15, (100} 15,(043).5, (057)}
(Sy,0) (s,,0) (54,0.50) (s,,—-0.43)
(s,,0) (8,0)  (55,-043)  (5,0)
(5,,—0.50) (5,,043)  (5,,0)  (5,,—0.50)
Ere=| (5,,043)  (5.,,0)  (5,,0.50)  (s,,0)
(s,,0)  (53,0.22)  (s,,0) (s,,0.43)
(3450) (SO’O) (871’0) (829_0'50)
(3250) (Sl,O) (30’0) (327_0'43)
(5,0)  (5,,-0.33) (5,,-0.34) (s,,-0.34)
(5,0.33)  (5,0)  (5,,-0.01) (s,,—0.01)
(5,,0.34)  (s,,0.01) (,,0) (s,,0)
Cru=| (5,0.34)  (5,,00)  (5,,0) (,,0)
(5,,-0.06) (s.,,-0.39) (s,,—0.40) (s ,—0.40)
(5,,049)  (5,0.16)  (5,,0.15)  (5,,0.15)
(5,,-0.50)  (5,,0.17)  (5,,0.16)  (s,,0.16)

{s, (1L00)}
ts, (100}

{s,(0.50), s, (0.50);

15, (1L00)}
15, (100}

s, (057), 5, (043)}

{5, (030), s (030)}
(s, (043)5_ (057}

15, (100}

{s, (043), 5 (0.57);
15,100}

{s, (0.50), s, (0.50);
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15, (L00)}

{s, (04),5 (033),5,(022)}

s, (100)}

{s,(043), 5, (0.57)}

1s, (100}
15, (100}
15,100}

{s,,(030),s_ (050)}

s, (LO0)} {s, (1.00)}
{s, (100)} {s, (1.00)}
15,(030)5, (040}, 5, (030)} {5, (1L00)}
(s,,0) (5.4,0)
(5,-0.22)  (s,,0)
(5,,0) (5:,0)
(s,,—0.43) (s.,,0.50)
(S9,0) (5,,0)
(s,,0) (8,0)
(s,,0) (8,0)
(5,,0.06)  (S_,,~0.49)
(5,,0.39) (s.,,—0.16)
(,,0.40)  (s,,—0.15)
(s,,0.40) (s_,—0.15)
(5,0)  (5,,0.45)
(s,,—0.45)  (s,,0)
(s,,—0.44)  (s,,0.01)

{5,(030),5(040), 5 (030)}
{s, (1L00)}

s, (1.00)}
{s,(057),5 (043)}
{s,(030), 5 (040), 5 (030)}
{s, (100)}

{s, (100)}

(s,,0)
(5.1,0)
(S5,0)
(s,,0.43)
(s.,,0)
(,,0)
(S,,0)

(s.,,0.50)
(s.,,—0.17)
(s,,—0.16)
(s.,,—0.16)
(s.,,0.44)
(5,,—0.01)
(S,,0)




Respondent No.19

15, (100} 5,(044)5, 033)5,(022)  {s,(1L00)} 15, (050)5, (050)} 15, (100} 15, (0305, (040). (030} 15, (100)}
s, (022)5, (033).5 , (0.4} 15, (L00)} (5,(057),5, (043)} {5, (050),5_ (050)} {5, (100)} fs,, (L00) 15, (100)}
{s, (L00)} {5, (043),5, 057)} {s, (100)} {s, (L00)} {s,(057),5, (043} {s, (100)} {s, (L00)}
Rio-| s 05,05 15, (050) 5,(050)} {5, (L00)} ts, (L00)} {5, (057).5,(043)} 15,043).5, (057)} ts, (100)}
15, (100)} fs, (100)} 5,(043)5 (OST)} {5, (0435 (05T)} fs, (L00)} 5,(030)s, (04005, (030)) {5 (030).5 (040, (030)}
£5,(030)5, (040) 5, (030)} ts, (L00)} {5, (1L00)} 5, (0575, (043)}  {5,(030).5, (040) 5, (030)} {5, (1L00)} 15, (1L00)}
{s, (1.00)} {s, (1.00)} is, (1.00)} {s, (1.00)} {,(030), 5, (040), s, (0.30)} is, (1.00)} {s, (1.00)}
(SO,O) (53:_0-22) (572:0) (339_0'50) (53:0) (37290) (572’0)
(55,0.22) (Sy,0) (s,,0.43) (s,,0.50) (s,,0) (55,00 (s3,0)
(5,,0)  (5,,-043)  (5,,0) (8,0)  (5:,0.43)  (5,0) (5,0
Ero=|(5,,0.50) (5,,-0.50)  (5,,0) (5,0)  (5,,0.43) (s,,-0.43) (s.,,0)
(s5,0) (5.,0)  (55,7043) (55,-043)  (5,0)  (5,,0)  (5,,0)
(,,0) (5,0) (8,0)  (5,,043)  (5,,0) (8,0)  (55,0)
(5,,0) (5,0) (30) (5,0 (s,,0) (8,0)  (55,0)

(5,0)  (5,0.16) (5,,0.33) (5,,-0.39) (5,,0.45) (s,,-0.45) (s_,0.18)
(5,,-0.16)  (5,,0)  (5.,0.16) (5,,045) (5,,0.29) (5,,0.39) (s,,0.02)
(5,-033) (5,,-0.16)  (5,0) (5,029 (5,,0.12) (5,,0.22)  (S,,—0.14)
Cro=| (5,,0.39) (5,,-0.45) (5,,-0.29)  (5,,0)  (5,,—0.16) (s,,—0.06) (s,,—0.43)
(5,,-0.45) (5,,-0.29) (5,,-0.12) (5,,0.16)  (5,,0)  (5,,0.10) (5.,-0.27)
(5,,045)  (5,,-0.39) (5,,-0.22)  (5,,0.06) (S,,—0.10)  (5,,0)  (5,,=0.37)
(s,-0.18) (5,,-0.02) (5,,0.14)  (5,,043) (5,,027) (5,,0.37)  (5,,0)
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Respondent 20

{s, (1.00)} s, (1.00); {s,(1.00)}  {s,(030),s(040), s (030); ts, (100)}
{s, (100)} {s, (100)} s, (1L00)} s, (0575 (0)} s, (100)}
{s, (100)} {s, (100)} {s, (100)} {s, (100)} s, (100)}
Ro0=| &5 030)5,040,5,0301 5,095,057 15,000 ts, (100)} 15, (043).5, (057)}
{s, (1L00)} {s, (1.00)} {s,, (1.00)} {s,(0.57),s  (043)} {s, (1.00)}
15, (100)} {5,(043),5,(057)) {5, (100); ts, (100); {5, (100)}
{s,(0:50), 5, (050)} s, (100); {s, (100)} {s, (100)} 5,(022).5,(033). 5, (044)}
(S5,0) (55,00 (5,00  (5,,0) (,,0)
(s.5,0) (50,0)  (5,,0) (5,,043)  (5,0)
(S5,0) (5,,0)  (5,0) (5,0 (,,0)
Erxn=| (5,,0) (s,,—0.43) (s,,0) (,0)  (s,,-0.43)
(55,0 (80,0)  (5,,0) (5,,043)  (5,0)
(So > 0) (Sz > _0-43) (30 > 0) (51 > O) (Sl > 0)
(s;,—0.50) (s,,0) (s,,0) (Sy,0) (s,,0.22)
(Sy,0) (s,,0.38) (s,,—0.36) (s,,0.48) (s,,0.33)
(s,,—0.38) (Sy,0) (s,,0.27) (s,,0.10) (s,,—0.05)
(sy,0.36)  (s,,—0.27) (S,,0) (S,,—0.16) (s,,—0.32)
Cro=| (5,,-0.48) (s,,-0.10) (s,,0.16) (S,,0) (s,,—0.15)
(s,,=033) (s,,0.05) (s,,0.32) (s,,0.15) (Sy,0)
(s,,0.44) (s,,—0.18) (s,,0.08) (s,,—0.08) (s,,—0.23)
(s,,—0.11)  (s,,0.27) (s5,,—0.47) (s,,0.37)  (s,,0.22)
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ts, (100); s ,(050), 5, (030)}
s, (057)s_ (043); s, (L00)}
{s, (100)} s, (L00)}
fs, (100} {s, (100}
{5, (100)} {s,(044),5_(033)5_ (022)}
{5, (100)} {5, (100)}
{s, (100)} {s, (100)}
(Sy,0) (s4,0.50)
(s,,0.43) (s,,0)
(S5,0) (s.1,0)
(s.1,0) (S0,0)
(s,,0) (s,,-0.22)
(S5,0) (8,,0)
(S5,0) (S5,0)
(S,,—0.44) (s,,0.11
(s,,0.18) (s,,—0.27)
(s,,—0.08) (s,,0.47)
(8,,0.08)  (s,,—0.37)
(s,,0.23) (s,,-0.22)
(Sy,0) (s,,—0.45)
(sy,0.45) (Sy,0)




Respondent 21

{s, (043),5 _(0.57)}
{S<1 (043), s, (0.57)}
15, (100}

15, (100}

{s, (043),5_(0.57);
15, (100}

{5, (100}

{5,(050),5,(050)}  {s_,(043),5_ (057)}

{s,(057), 5, (03)}
{5,(057),5,(043)}
{s,(057), 5, (03)}
5,00}
{5,(057), 5, (043)}

{s,(057), s, (043)}

{s} (0.57), S, (0.43)}
15, (100}
15, (100}

s ,(043),s (057)}
15, (100}

{5, (100}

(55,-0.43) (5,,-0.50) (5,-0.43)

(s.;,—0.43)
(S,,0)
(3,,0)

(s.;,—0.43)
(3,,0)
(3,,0)

(s.,,0.43)

fs, (1.00); 5, (050,'5,(030)} {5, (043), 5 (057)}
{s,,(050), 5, (050} s, (100)} s, (043)s_ (057}
{5,(057).5,(043)} {5,(057).5,(043); 15, (1L00)}
Roi- s,(057)5,(043)} {s,(057),5,(043)} {s, (1o0)}
{5, (0.50), 5, (0.50); {s,(043),5 (057);  {s (043),5 ,(057)}
{5,(057).5, (043)} s, (043) 5 (057); 15, (1L00)}
{s,(022)5 (033)5_(044)) s, (100)} s, (100)}
(Sy,0) (s;,—0.50) (s,,—0.43)
(s4,0.50) (Sy,0) (s;,—0.43)
(55,0.43)  (s;,0.43) (S,,0)
Era=| (s;,0.43)  (s;,0.43) (S,,0)
(s,,0.50) (s,,-0.43) (s,,—-0.43)
(5,,0.43)  (s;,-0.43) (S,,0)
(s5,—0.22) (S9,0) (s,,0)
(S,,0) (s,,0.21) (s,,—0.05) (s;,0.38)
(s,,—0.21) (S,,0) (s,,—0.26) (s,,0.17)
(s,,0.05)  (s,,0.26) (S,,0)
Cra=|(5;,—0.38) (s,,—0.17) (s,,—0.43)

(s,,0.35) (s,,-0.45) (S_,,0.30)

(5,,-0.36) (5,-0.15)  (S,,—0.41)
(5,,-0.39) (5,,—0.18)  (5,,—0.44)

(S,0)
(54,0)
(s.,,0.02)
(s,,—0.01)
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(s,,0.43)
(s,,0.43)
(s,,0.43)
(5,:0)
(s,,0.43)
(s,,0.43)

(s,,—0.35)
(s,,0.45)
(s,,—0.30)
(84,0)
(S,,0)
(s,,0.30)
(s4,0)

(s,,0.43)
(S,,0)
(S,,0)

(s.,,—0.43)
(S,,0)
(S,,0)

(s.,,0.36)
(s.,,0.15)
(s,,0.41)

(s,,—0.02)

(s,,—0.30)
(5,:0)

(s,,—0.03)

{5, (0225 (033), 5 (044)}

15,100}
s, (100}
15,100}

{s, (043),5_ (0.57);
15, (100}

15,100}

(s,,0.22)
(S,,0)
(5.4,0)
(S,0)

(s.,,—0.43)
(S,,0)
(S,,0)

(s,,0.39)

(s,,0.18)

(s.,,0.44)

(5,,0.01)
(54,0)

(s.,,0.03)

(S,,0)




Respondent 22

15, (100}
{s_ (050, 5_(0.50)}

(s, (044), 5 (033). 5, (022)}

s, (04), 5, (033), 5, (022)}

{s,(050), s, (050)}

{54 (022), S, (033), S, (0.44)}

{s,(0.50), s, (0.50);
15, (100}
15, (1.00)}

{S2 (0.50), s, (0.50)}

{s, (100)}

s, (043),5 (057}

{s,(022);5_(033)5, (044)}
{s, (1.00)}
{s, (1.00)}
{s ,(043),s_(057)}
{s ,(043),s_(057)}

{s,(045),5_(033)5, (022)}

{s,(022),s_(033),5, (044}
{s,(050) s, (050)}
{5,(057),5, (043)}
ts,(100)}
{s,(022),5_(033)5_ (044}

s, (050),5_ (0:50)}

{s,, (100)} {s, (100)} {5, (043), 5, (057)} {s,(030), 5, (040). 5, (030)}
(Sy,0) (8,,—0.50)  (5,,0.22) (s5,,0.22)
(s4,0.50) (Sy,0) (s,,0) (s;,0.50)
(s;,—0.22) (s,,0) (S,,0) (s;,0.43)
Erz=|(5,,-0.22) (s;,—0.50) (s,,—0.43)  (S,,0)
(s4,0.50) (s,,0) (s;,—0.43) (s,,0.22)
(s,,0.22) (s,,-0.43) (s,,-0.22) (s,,0.50)
(372 > 0) (Sz > O) (Sz > _0-43) (sz > O)
(Sy,0) (s,,—0.46) (s,,—0.01) (s ,0.30)
(s,,0.46) (Sy,0) (s;,0.45) (s,,—0.24)
(5,,0.01)  (s;,—0.45) (S,,0) (8,,0.31)
Crz=| (5,,-0.30) (s,,0.24) (s,,—0.31) (Sy,0)
(s,,—0.20) (s,,0.34) (s;,-0.21) (s;,0.10)
(s,,—0.02) (s,,—0.48) (s,,—0.03) (s,,0.28)
(8,,—0.16)  (s,,0.38) (s,,—0.17) (s,,0.13)
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{s,(050),,(0:50)}
15, (100)}
{s,(057). 5, (043)}

{s,(044),5, (033), 5, (022)}

{s, (044),5,(033), 5, (022)}
{s,(057),s,(043)}
{5,(022),5,(033), 5, (0:44)}

s, (050), 5 (050)}

15, (100}
15, (100)}
s, (057)5 (043)}

{5,(030), 5, (040), 5, (0.30)}

{s, (100)} {s, (100)} {s,,(050), 5, (0:50);
{s, (100)} {s, (L00)} {s, (100)}
{s,(050) 5, (050)} {s,(100); {s, (100)}
(s;,—0.50) (s;,-0.22)  (s,,0)
(s,,0) (s;,0.43) (s,,0)
(5,,0.43)  (s,,0.22) (s,,0.43)
(s,,—0.22) (s,,—0.50)  (s,,0)
(Sy,0) (s,,0)  (s;,0.50)
(,,0) (S5,0) (s,0)
(S3>_O-50) (Svo) (Soao)
(s,,0.20)  (s,,0.02)  (s,,0.16)
(s,,—0.34) (s,,0.48) (s ,,—0.38)
(s;,0.21)  (s;,0.03)  (s,,0.17)
(8;,—0.10) (s,,—-0.28) (s,,—0.13)
(S0,0) (S,,—0.18) (s,,—0.04)
(Sy,0.18) (S,,0) (s,,0.14)
(5,,0.04) (s,,—-0.14) (Sy,0)




Respondent 23

ER23 =

CR23 =

s, (1L00)} {s, (1L00)} s, (043).5,(057)}
15, (100)} s, (1L00)} 15, (1L00)}
(s, (057), 5 (043)) {s, (1L00)} {s, (1L00)}
=| s, (04).5 (057 {s, (100)} {s, (100)}

{5,(057), 5, (043)}
{5, (100}
15, (100)}

s, (100)}

{5,(057),5, (043}
{s,(057),, (043)}
{5,(057), 5, (043)}

{s,(057), 5, (043)}

{s, (100}
15, (100}
(s, (043) 5 (057}

s, (030). s (050)}

s, (100)}
15, (100}
15, (100}

15, (100}

(s, (043),5 (05T)}  {s, (043),5 (05T} {5, (043),5 (05T} (s (04B),5 (057} {s, (100)} s, (L00)} s, (043), 5 (057)}
{s, (1L00)} fs, (1L00)} {5,(057),5,(043)) {5, (050) 5, (050)} fs, (1L00)} fs, (100)} {s, (100)}
s, (100} s, (1.00)} {s, (100} s, (100)} {5,(057),5,(043)} {s, (100)} {s, (100}
(Sy,0) (Sy,0) (s,,—0.43)  (s;,0.43) (s5,0.43) (Sy,0) (s,,0)
(S,0) (8y,0) (S9,0) (5,0)  (55,043)  (5,,0) (s,,0)
(s,,0.43) (Sy,0) (Sy,0) (Sy,0) (5,,0.43) (s,,—0.43) (Sy,0)
(s;,-0.43) (Sy,0) (Sy,0) (Sy,0) (s;,0.43) (s,,0.50) (Sy,0)
(s;,-0.43) (55,-0.43) (s,,-0.43) (s;,-0.43) (s,,0) (s4,0) (s;,-0.43)
(S,0) (8y,0) (5;,0.43)  (5,,-0.50)  (s,,0) (8,0) (8y,0)
(5.4,0) (54,0) (S,0) (8,0)  (55,043)  (s,,0) (8,0)
(sy,0) (s,,—0.29) (s,,0) (s,,0.28) (s,,0) (s,,0.21) (s,,0.43)
(s,,0.29) (sy,0) (5,,0.29) (s,,—0.44) (s,,0) (s,,0.50) (s,,-0.29)
(s,,0) (s,,—0.29) (sy,0) (s,,0.28) (s,,—0.20) (s,,0.21) (sy,0.43)
(s,,—0.28) (s,,0.44) (s,,—0.28) (S,,0) (s;,—0.48) (s,,—0.06) (s,,0.15)
(s4,0) (s4,0) (s4,0.20) (s,,0.48) (s,0) (s,,0) (s,,—0.37)
(s,,—0.21)  (s,,-0.50) (s,,-0.21) (s,,0.06) (s,,0) (sy,0) (s,,0.21)
(s,,-0.43) (5,,0.29) (s,,—0.43) (s,,—0.15) (5,,0.37) (s,,—0.21) (S,,0)
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Respondent No.24

CR24 =

(55,0.43) (s,,0) (s,,0)
(5.4,0) (54,0)
(Sy,0)
(s5,0.43) (s,,0) (s,,0)

{s, (100)} {5, (100)} Is,(04)5 (05T} {5,(057)5,(043)} {5, (057).5, (043)}
{s, (100)} {s, (100)} (s, (03)5 (057 {5, (043)5 (057} fs, (100);
s, (057),5,(043)) {3, (057) 5, (043)} fs, (100)} fs, (100} s, (100)}
Ros=| s, 005,051 15,09.5,08) fs_, (100} {s, (100)} {s,(057),5,(043)}
{s,(043),5_(0.57); i, (1.00)} {s, (100); {s,(043), s (0.57); {s, (1.0}
s, (100 s, (L00)} s, (100)} s, (100} s, (100
s, (100); {5, (1.00); fs, (100)} s, (100)} s, (1L00)}
(S9,0) (s,,0)  (55,-0.43) (s;,0.43)
(s,,0) (8,0)  (55,-0.43) (5,5,-0.43) (s,,0)
(s;,0.43)  (s,,0.43) (S,0) (s,,0) (s,,0)
Erx =] (5;,-0.43) (5,,0.43) (s,,0) (S4,0)
(s;,—0.43) (s,,0) (5,,0)  (s,,-0.43) (s,,0)
(5,,0) (8:,0) (35,0) (5,,0) (5,,0)
(5,,0) (8:,0) (S5,0) (5,,0) (5,,0)
(S,,0) (5,,0.47)  (s,,—0.49) (s,,-0.14) (s;,—0.10)
(s ,,—0.47) (S,,0) (s,,0.04) (s,,0.39) (s,,0.43)
(5,,0.49)  (s,,—0.04) (Sy,0) (s5,0.35) (s,,0)
(s,,0.14)  (s,,-0.39) (s,,-0.35) (S,,0) (s,,0.04)
(s,,0.10) (s,,—0.43) (s,,0) (s,,—0.04) (S,,0)
(s;,—0.35) (s,,0) (S,,0.16)  (s,,—0.49) (s,,0)
(s;,—0.35) (s,,0) (S,,0.16)  (s,,—0.49) (s,,0)
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5,000} s, (100}

5,00} s, (100}
15,(100)) {5, (L00)}
5,100} s, (100}
5,000} s, (100}
15,(100)) s, (L00)}

{5,100} s, (100)}

(S,,0)

(54,0) (54,0)
(50,0) (5,0
(50,0) (5,0
(s,0.35)  (5.,0.35)
(54,00 (54,0
(S,,—0.16)  (S,,—0.16)
(5,.0.49) (s_,,0.49)
(54,00 (54,0
(5,0) (5,,0)
(5,0) (5,,0)




Respondent No.25

Cst =

5,00} {s,(LOO)} {s (10O} {5 (100)} {5, (LO0)}  {s (LOO)} s (LOO)}

5,100} {8, (LO0)} {5, (100} {5, (LO0)} {5, (LO0)} {5, (L0} s, (100}

15,000} {5, (100} {s,(L00) {5, (100} {5, (LO0)} {5,(L00) {5, (100}

Ros=| 5,000 s,00y s,amy  s,a0my 50005 s,000) 5,000

(5,100} {5, (100} {5, (L00)} s (100} {5 (L00)} {s (L)} {5 (L0O)}

5,100 {5, (100} {s,(LO0)} {5, (100} {5, (L00)} {5,(L00)} {5, (100}

15,(L00)} {5, (L0} {3, (LO0)} {§,(100)} i (LO0)} {5, (LO0)} s, (1L00)}
(3,0)  (5,0) (5,,0) (5,0)  (5,,0)  (5,0)  (5y,0)
(55,00 (5,0)  (5,0)  (8,0) (5,0) (55,0) (55,0)
(5,00 (5,00 (8,0)  (5,0) (55,0)  (5,,0)  (5,0)
Er: = (30:0) (SO,O) (SO,O) (Soao) (52:0) (SO,O) (Soao)
(55,0) (5,0) (55,0) (5,,0) (50,0) (55,00 (55,0
(5,00 (55,0)  (5,0)  (5,,0)  (55,0)  (8,0) (5,0)
(8,00 (55,0)  (5,0)  (5,,0) (55,0) (8,0) (5,0)
(5,0)  (5,,-0.14) (5,,0.43)  (5,-0.43) (5,,0.29)  (5,,0)
(5,,0.14)  (5,,0)  (5,,-0.43) (5,,-0.29) (5,,0.43) (s,,0.14)
(5,,-0.43)  (5,043)  (5,,0)  (5,,0.14) (s,,—0.14) (s,,—0.43)
(5.,,043)  (5,029) (5,,=0.14)  (5,0)  (5,,-0.29) (s,,0.43)

(5,,-0.29) (s,,-0.43) (5,,0.14) (5,,029)  (s,,0)

(5,0)  (5,,-0.14) (5,,043)  (5,-0.43) (5,,0.29)  (5,,0)
(s.,,0.14)  (5,0)  (5,,—0.43) (5,,—0.29) (5,0.43) (s,,0.14)

25

(s,,-0.29) (s_,,-0.43)




Respondent No.26

{s,(022);5_(033),5_ (044)}

R

{5, (100)}

{s,(043), 5 (0.57)} s,

ER26 =

CR% =

ts, (100} {s,

{s, (1.00)} {s,
{s,(021),5, (029), 5, (029),5, (021} s,

{s, (0445 (033)5 (022)} s,

(044)5, (033),5,(022)}
{5, (1L00)}
(04),5,(0.33),5,(022)}
(044).5 (033).5,(022)}
(044).5 (033).5,(022)}
{s,(0:30), 5, (050)}

(044).5, (033),5,(022)}

(S,,0)
(s.,,0.22)
(s,,0)
(s,,—0.50)
(s,,—0.22)
(s,,0)
(s,,—0.43)

(S,0)
(s.,,0.10)
(s,,—0.48)
(s,,—0.20)
(s.,,0.12)
(s,,—0.06)
(s,,—0.40)

{S,z (1.00)} {SA (0.21), S, (0.29), s, (0.29), s, (0.21)} {S‘ (0.22), s, (0.33), S, (0.44)}

{s,(022),s_(033)5, (044)} {s,(022),s_(033)5, (044} {s,(022),5 (033)5, (044)}

{s, (1.00)} {s,(044),5,(033), 5, (0.22)} {s,(040), 5, (0.30), s, (0.20), s, (0.10);

{5, (0225 (033),5, (044)} s, (100)} {s,(044),5,(033), 5, (022)}
s, (0105 (020),5,(030),5, (040)} fs,(022)5_(033)5, (044)} {s, (100)}
15, (100)} 1s,(030):5,,(040). 5 (030)} {s,(100)}
{s, (100)} {s, (044 (033).5 (022)} {s, (100)}
(s;,—0.22)  (s,,0) (s4,0.50) (s,,0.22) (s,,0)
(S,,0) (s,;,0.22) (s,,0.22) (s,,0.22) (s,,0.50)
(s,,—0.22)  (s,,0) (s,,—0.22) (s,,0) (Sy,0)
(s;,—0.22) (s,,0.22) (S,,0) (s;,—0.22)  (s,,0)
(s;,-0.22)  (s,,0) (s;,0.22) (Sy,0) (s;,0)
(33,—0.50) (Soao) (572’0) (53,0) (50’0)
(s;,—-0.22)  (s,,0)  (s,,-0.22) (s,,0) (s,,0)
(s,,—0.10) (s,,0.48) (s,,0.20) (s,,—0.12) (s,,0.06)
(sy,0) (s4,-0.42) (s,,0.30) (s,,—0.02) (s;,0.16)
(s;,0.42) (sy,0) (S,,—0.28)  (s,,0.40) (s,,—0.42)
(s,,—0.30) (s,,0.28) (sy,0) (s;,—0.33) (s,,—0.14)
(5,,0.02) (s,,-0.40) (s,,0.33) (S,0) (s,,0.18)
(s;,—0.16) (s,,0.42) (s ,,0.14) (s,,—0.18) (sy,0)
(s,,—0.50)  (s,,0.08) (s,,—0.20) (s,,0.48) (s,,—0.34)
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{s,, (1L00)}
{s,(030),5_, (050}

s, (100)}
{s,(030), 5, (040), 5, (0.30)}
{5, (100)}

{s, (1L00)}

s, (100)}

(s.,,0.43)
(s.4,0.22)
(s,,0)
(s,,0.22)
(s5,0)
(s5,0)
(S,,0)

(s,,0.40)
(s.,,0.50)
(5,,—0.08)
(s,,0.20)
(s,,—0.48)
(s.,,0.34)
(S,0)

{s,(057).s (043)}
{s,(022),5_(033),5 (044)}
(s, (L00)}

{s,(022), 5, (033), 5 (044)}
s, (1L00)}
{s, (100)}

{s, (100)}




Respondent No.27

fs, (100)} {s,(057) 5, (043)} fs, (100)} s, (050), 5, (050} {s,(057) 5, (043)} fs, (L00)} fs, (1.00);
s, (043),5 (057} {s, (100)} s, (03),5_ (057} {s, (100)} {5,057, (04} {s (0505, (050)} {5, (L00)}
{5, (100)} 15,(057).5, (043)} {5, (L00)} {5, (100)} {5, (04,5, (033) 5, (022)} is, (100); {5, (L00)}
Ro7-| & 001,050y {s, (1.00); fs, (100)} {s, (100)} {s,(050), 5, (050)} {s, (100)} {s, (100);
{s,(043),5_(057)} {5 (043),5,(057)}  {s,(0.22),5 (033)5 (044)} {s (050)s (050)} {s, (100} {s,(0.57),s (043)}  {s,(1.00)}
{s, (100)} {s,(050),s, (050)} {s,,(100); {s, (100)} {5, (043), 5, (0.57)} s, (100)} s, (100)}
{s, (100)} s, (100)} fs, (100)} {s, (100} {s, (100)} {s, (100} {s, (100)}
(S,,0) (s5,0.43) (Sy,0) (s,,0.50) (s,,0.43) (s,,0) (Sy,0)
(s;,-0.43) (Sy,0) (s;,-043) (s;,0)  (5,,0.43) (s5,,0.50) (s,,0)
(S,,0) (s5,0.43) (Sy,0) (S,0) (s5,—0.22) (5,,0) (Sy,0)
Erx=| (s,,-0.50) (s;,0) (Sy,0) (S,0) (s,,—0.50) (s,,0) (s,,0)
(s,,-0.43) (s,,-0.43) (s,,0.22) (s,,0.50) (S,,0) (s,,0.43) (s;,0)
(s,,0) (s;,—0.50) (s,,0) (s,,0) (5,,-0.43)  (5,,0) (s,,0)
(85,0) (5,,0) (85,0) (5,,0) (;,0) (5,0) (55,0
(S,,0) (s;,—0.10) (s,,—0.41) (s ,,0.48) (s,,0.44) (s,,0.33) (s,,—0.38)
(s,,0.10) (S,,0) (s,,-0.30) (s;,—-0.42) (s,,—0.46) (5;,0.43) (s,,-0.28)
(S,,0.41)  (s,,0.30) (S,,0) (S,,—0.11) (s;,-0.16) (s,,—0.27)  (S,,0.03)
Cro=| (5,-0.48) (s,,0.42)  (s,,0.11) (S,,0) (s;,—0.04) (s,,-0.15)  (s,,0.14)
(s,,—0.44) (s,,0.46) (s,,0.16) (5,0.04) (S,,0) (s,,—0.11) (s;,0.18)
(S,,—0.33) (s;,—0.43) (s,,0.27) (s,,0.15)  (s,,0.11) (S,,0) (s ,,0.30)
(8,,0.38)  (s;,0.28)  (s,,—0.03) (s,,—0.14) (s,,—0.18) (s,,—0.30) (S,,0)

27




Respondent 28

Ros -

Est =

Cst =

{s, (1L00)}

s, (100)}

{5, (057),s, (043} {5,(043), 5, (0.57)} {s,, (100)}
{s,(057), 5, (043)} {s,(100); {s,100)}

{s,, (100); {s, (100)} {s, (100)}
{s,,(050):5 (050)}  {5,(030)5,(040), 5, (030)} ts, (100)}

{5 (1L00)} {s,(043)5,(057); ts, (1.00);
(5,0)  (5,0)  (5,,—043)
(s,,0) (S,,0) (s,,0.43)

(s,,0.43) (s,,—-0.43) (Sy,0)
(s;,0.43) (s,,0) (s,,0)
(s.1,0) (,,0) (55,0
(55,050) (5,00 (5,0)
(s,,0)  (s,,-0.43) (s5,0)
(Sy,0) (s,,—0.03) (s,,—0.34)
(s,,0.03) (S,,0) (s ,,—0.31)
(s,,0.34)  (s,,0.31) (S,,0)
(s,,—0.03) (s,,—0.06) (s,,—0.37)
(s,,0.26) (s,,0.22) (s ,,—0.08)
(s,,—0.37) (s,,—0.40) (s,,0.30)
(S,,0.13)  (s,,0.10) (s,,—0.20)

{s, (1L00)}

15, (100}

{SI (0.43), s, (0.57)}

{s,,(057),s_ (043)}

{SA (043), S, (057)}
ts, (1L00)}
15, (100)}
15, (100)}
s, (100)}
s, (100)}

s, (100)}

(s;,-0.43)

(s,0)
(s,0)
($,,0)
(s5,0)
(s,,0)
(s,0)

(s.,,0.03)
(s.,,0.06)
(s,,0.37)
(50:0)
(s,,0.29)

(s,,—0.34)

(s.,,0.16)

28

15, (100)}

{s, (1.00)}

15, (100)}

15, (100)}

s, (100}
{s,(043), 5, (057)}

15, (100}

(,,0)
(s,,0)
(s5,0)
(55,0
(S,,0)

(s,,—0.43)

(s,,0)

(s,,—0.26)
(S,,—0.22)
(s,,0.08)
(s,,~0.29)
(5,:0)
(s,,0.38)
(s,,—0.12)

{S1 (0.50), s, (0.50)}

{s,(030). 5, (040) 5 (030)}

{s, (1L00)}
{5, (100)}
{s,(057),s_ (043);
{s, (L00)}
{s, (100)}
(s,,—0.50)
(5,0)
(5,,0)
(5,0)
(s.,,0.43)
(5,,0)
(5,,0)

(S,,0.37)
(s,,0.40)
(s,,—0.30)
(5,,0.34)
(s.,,—0.38)
(80,0)
(s,,—0.50)

1s,(100)}
s, (0575 (043);

15, (100}

s, (L0}

1s, (100}

15, (100}

{s, (100)}

(s,0)
(s,,0.43)
(s3,0)
(s,0)
(s,,0)
(,,0)
(,,0)

(S,,—0.13)
(s,,—0.10)
(s,,0.20)
(s,,—0.16)
(s,,0.12)
(s,,0.50)
(5:0)




Respondent No.29

R -

{s, (100)} {s,(044),5,(033), 5, (022)} {s,(050),s, (050)}

{s,(022),5_(033)5, (044} {s, (100)} {s,(022),5_(033),5, (044)}
s, (0505 (050)} {s,(044),5,(033), 5, (022)} {s, (100)}
{s,(057), s, (043)} {s, (100)} {s, (1.00)}
{s,(044),5,(033),5,(022)} {5, (044).5,(033),5,(022)} {s, (100)}
s, (044),5,(033),5, (022)}  {s,(0:44).5,(033),5,(022)} {s, (100)}
{s,(057),5,(043)} {5,(057)5,(043)} {s, (100)}
(S,0) (s;,—0.22) (s5,-0.50)

(s;,0.22) (S0,0) (s;,0.22)
(s;,0.50) (s;,-0.22) (S,0)

Erv=| (s;,0.43) (S9,0) (S,0)
(s;,—0.22) (s;,—0.22) (S,,0)
(s;,—0.22) (s;,—0.22) (S,,0)
(5,,0.43)  (s;,0.43) (S,,0)

(Sy,0) (5,,0.06) (s ,,—0.06)
(s,,—0.06) (Sy,0) (s,,—0.12)
(5,,0.06)  (s,,0.12) (Sy,0)

Cru=| (5,,—0.49) (s,,-0.43) (s,,0.45)
(s,,—0.19) (s;,—0.13) (s,,—0.25)
(s,,—0.19) (s;,—0.13) (s,,—0.25)

(s,,0) (s,,0.06)  (s,,—0.06)

{s_,(043),5_(057)}
15, (100}
15, (100}
15, (1L00)}
15, (100)}
15, (100}

{s, (100)}

(s_;,~0.43)
(S,,0)
(S,,0)
(S,,0)
(S,,0)
(S,,0)
(S,,0)

(s_,,0.49)

(s.,,0.43)

(s,,—0.45)
(S,,0)

(s,,0.30)
(s,,0.30)
(s,,0.49)

29

{s,(022)5 (033)5 (04)} {s (022)5 (033)5 (044} {5 (043)5_(057)}

{s,(022)5_(033),5,(044)} {5, (0225 (033)5, (04)} {5, (043),5 (057}

fs, (100)} {s, (100)} {s, (100)}
{s, (100)} ts, (100)} 15, (100)}
ts, (100)} ts, (100)} fs, (100)}
(s, (100} {s, (100)} {s, (100)}
ts, (100)} ts, (100)} ts, (100)}
(s;,0.22) (s;,0.22) (s,;,—0.43)
(s;,0.22) (s;,0.22) (s,;,—0.43)

(S5,0) (S5,0) (S5,0)

(S5,0) (S5,0) (S5,0)

(S5,0) (,0) (3, 0)

(35,0) (S,0) (3,0)

(35,0) (S,0) (30)
(s,,0.19) (s,,0.19) (s,,0)
(s,,0.13)  (5,,0.13) (s;,—0.06)
(s,,0.25) (s,,0.25) (s,,0.06)
(s,,—0.30) (s,,—0.30) (s,,—0.49)

(5,0 (5,00 (5,-0.19)

(5,0 (5,00 (5,-0.19)
(8,,0.19)  (s,,0.19) (S,,0)




Respondent No.30

15, (100}

15, (100)}

Rso

s, (043),5 (057}

{s,(0.50), 5, (0.50)}

{s,(0.50), s, (0.50)}

ER30 =

CRsn =

{s,(022)5_(033) 5, (044)}

{s,, (0445 (033)5 (022)}

{s, (100)} 15, (044).5,(033),5,(022)}  {5,(022).5,(033).5, (044} {5,(057).5, (043)} {s_,(050).5_, (050)} {s,,(050) 5, (050)}
{s, (100)} {5,(022)s (033)5 (044}  {5,(044).5 (033)5,(022)} {s, (100)} {s,(022)s (033)5 (044) (s, (022)5_(033)5,(044))

{5, (044) 5, (033), 5, (022)} fs, (100)} ts, (1.00); fs,(045),5,,(033), 5, (022)} fs, (1.00); ts, (100)}

{5, (0225 (033) 5, (044)} {s, (100)} {s, (100)} {5,(022).5,(033) 5, (044} {5, (022),5_ (033),5, (044)}  {s_(022)5 (033)5 (044)}

fs, (100)} 5,(022)5,(033),5,(0M)}  {s (045 (033),5_ (022)} ts, (100); {5, (1L00)} s,(022),5_ (0335, (044)}

{5, (044),5,(033), 5, (022)} {s, (100)} {s,(044).5,(033), 5, (022)} s, (1L00)} fs, (100)} {s, (100)}
{s,(044).5,(033), 5, (022)} {s, (100)} (5,(044).5, (033),5,(022))  {5,(04M). 5, (033). 5, (022)} {s, (100)} {s, (100)}
(S,,0) (S,,0) (s;,—0.22)  (s,,0.22) (5,,0.43)  (5,,0.50) (s,,0.50)
(S,,0) (S,,0) (s,,0.22) (s,,—0.22) (S,,0) (s;,0.22) (s,,0.22)

(s,,0.22) (s,,—0.22) (S,,0) (S,,0) (s,,—0.22)  (s,,0) (S,,0)

(s,,—0.22) (s,,0.22) (S,,0) (S,,0) (s,,0.22)  (s,,0.22) (s,,0.22)

(s4,-0.43) (Sy,0) (5,,0.22) (s,,—0.22) (S,0) (s4,0)  (s;,0.22)

(5;,—0.50) (s;,—0.22) (Sy,0) (s;,—0.22) (s,,0) (Sy,0) (Sy,0)

(s;,—0.50) (s;,—0.22) (Sy,0) (5;,—-0.22)  (s;,-0.22) (Sy,0) (Sy,0)

(S,,0) (s,,0.28)  (s,,-0.19) (s,,—0.32) (s,,-0.05) (s ,,—0.23) (s ,,—0.06)

(s ,,—0.28) (S,,0) (S,,—0.48)  (s,,0.40) (s,,-0.34) (s,,0.48) (s,,—0.34)

(s,,0.19)  (s,,0.48) (S,,0) (s,,—0.13) (s,,0.14) (s,,—0.04) (s,,0.13)

(s,,0.32) (s,,—0.40) (s ,,0.13) (S,,0) (5,,0.27)  (55,0.09) (s,,0.26)

(s,,0.05) (s ,,0.34) (s ,,—0.14) (s,,—0.27) (S,,0) (s;,—-0.18) (s,,—0.01)

(5,,0.23)  (s,,-0.48) (s,,0.04) (s;,—0.09) (s,,0.18) (S,,0) (S,,0.17)

(s,,0.06)  (s,,0.34) (s,,—0.13) (s,,—0.26) (s,,0.01)  (s,,—0.17) (S,,0)
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